Right Triangle Trigonometry: A Write each trigonomeric ratio as a fraction.
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Write each trigonomeric ratio as a fraction. ’
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There is no Opposite Leg and there are two Adjacent Legs.

In Right Triangle Trigonometry we can only find
hye 17 the Sin, Cos, and Tan of the acute angles of a
right triangle.



Write each trigonomeric ratio as a fraction.
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As we noticed in the previous problems when you

switch from Sin to Cos and you switch angles you
get the same answer.

In triangle ABC, C is the right angle. SOHCAHTOA
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Angle G and this angle are

~— ___ complementary
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Sine G = Cos?
Sine G = Cos(90°-G)

G Sine G = Cos(complement to G)
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Find the measure of angles
A and B to the nearest
hundredth of a degree. 5 13
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When we take the Sin, Cos, or Tan of an angle
the result is a decimal amount equivalent to the ratio
of two sides, i.e., SOHCAHTOA.

If we have the sides and need the measure of the
angle we have to undo Sin, Cos, or Tan....called
an inverse trigonometric function:

Sin"', Cos™, or Tan™

This is usually done by pressing the 2ND button first
followed by the Sin, Cos, or Tan button. See an
example on the next page.

Find the measure of angles
A and B to the nearest

hundredth of a degree. 51
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Angle B: TanB = S//qs
Ly = Tan" (55) = 4.5



Find the values of x and y to the nearest hundredth.
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Find the value of x and y to the nearest hundredth.
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